GMAT考试新题型独家解析

一、Graphics Interpretation(GMAT考试图表解释题)
考查能力：考查考试者对不同图表形式所展现的数据的解读能力、整合能力、辨别关系能力以及推断能力。
题型描述：题目会给出一个图表或者图形，比如散点图、坐标图、条形图、统计曲线分布图、或者饼状图等。然后考试者解读完数据后通过下拉菜单完成整个题目陈述。
例：
[image: ]

这是一个韦恩图表，左边的圆圈表示30岁以及30岁以上的人，右边的圆圈表示没有高中文凭的人。两个圆圈重合的部分表示30岁以及30岁以上且没有高中文凭的人。

第一个问题：问从总数300人中随机选取，选到30岁以下或者有高中文凭或者两者都是的人的概率是多少？
解答：用S表示全集，A表示30岁以及30岁以上的人的集合，B表示没有高中文凭的人的集合，则题目求的那部分人的集合是=300-50=250人，所以概率为250/300=5/6
第二个问题：题目求既在30岁以下又有高中文凭的人，即=300-200=100
所以概率为100/300=1/3

点评：这道题的考点是集合和概率。难点在于理解集合中各部分的英语表达。

二、Two-Part Analysis（GMAT考试联立分析题）
考查能力：考查考试者分析复杂问题的能力，包括评估两者权衡、解决联立方程以及辨别两者关系的能力。
题型描述：题目包含了文本和解答，解答中又包含了两部分变量。回答时需要在每部分中勾选一个选项。两部分变量可能是相互关联的，也可能是相互独立的。
例：
[image: ]
某种汽车，当行驶速度恒定为S公里每小时时，每升油可以行驶E公里。
左边部分问：在一小时内，耗费了多少升油？
右边部分问：行驶60公里耗费了多少升油？

左边：1小时行驶里程数为：S公里，每升油可以行驶E公里，所以一共用了S/E升
右边：每升油可以行驶E公里，所以60公里耗费了60/E升油

考点：里程数和耗油之间的关系。



三、Table Analysis（GMAT考试表格分析题）
考查能力：考查考试者在可分类数据表格中发现数据、组织数据并且用得出的结论有效解决问题的能力。
题型描述：每道表格分析题都包含一个可分类的数据表格，考试者根据不同的问题对表格进行不同的分类，以此找出和问题相关的信息和数据，并解答问题。
例：
[image: ]
整个表格是巴西农业产品的数据。
第一个陈述：没有任何国家生产出了超过全世界四分之一的糖
表格中，巴西的糖生产占全世界21%，且排名世界第一，不会有国家超过它。所以答案选YES

第二个陈述：有国家比巴西出口更多百分比的咖啡作物
表格中，巴西的咖啡出口排名世界第一，不会有国家超过它，所以答案选择NO

第三个陈述：在巴西出口排名世界第一的商品中，巴西生产了超过20%的世界供给。
表格中，巴西出口排名世界第一的产品有牛肉、鸡、咖啡、橙汁和糖，其中牛肉和鸡的产量没有超过世界供给的20%，所以这道题的答案选择NO









四、Multi-Source Reasoning（GMAT考试多源推理题）
考查能力：考查考试者从不同数据来源中获取最相关信息数据的能力、结合不同种类的数据解决问题的能力。
题型描述：每道题的左上角都有两个或者三个选项卡页面，提供不同种类或者相同种类的不同信息，比如文本信息、图表信息等。这些信息可能相关。问题在页面右边。
例：
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题目问：三封信中的信息是否能够支持下列陈述
第一个陈述：负责人不愿意邀请第一组那么多的人去第二组。
第一封信和第三封信是负责人的信，他在第三封信中提到了总预算是$45000，第一组和第二组中的每人获得$50。他认为总数不该超过预算，并没有比较第一组和第二组的人数，因此答案选择No
第二个陈述：项目合作者不指望能够实现获得调查问卷数量的目标。
第二封信是项目合作者的信，他觉得第一组人数不够，因此为了达到最终目标，他提出了一个新的计划：邀请第二个小组。由这个信息可以推断，项目合作者是期望达到目标的。所以答案选择No
第三个陈述：负责人愿意接受一些超预算的风险。
[bookmark: _GoBack]第三封信的最后一句话try not to exceed the total amount给我们提供了答案。这句话告诉我们，负责人的意思是让合作者尝试尽量不要超过预算。这句话和Don’t try to do是有区别的。因此答案选择Yes


考点：阅读文章，提取有效和相关信息。
具体详细信息欢迎访问www.xdf.cn
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Email from project coordinator in response to the
administrator’s January 15, 10:46 a.m. message

January 15, 11:12 am.

Altogether we got exactly 350 actual survey completions. We
need at least 700 and were hoping for even more, so we plan
to invite a second group to participate. Both the results from
this first group and other research indicates that with this type
of survey and this type of participants there is about a 40
percent probability that any given invitee will submit the
completed survey in the time wefl allow. (Obviously that
doesn't mean that if we invited 1,000 we'd necessarily get at
least 400, so we need to think in terms of the risks of getting
too few returns or exceeding the budget.) All of the participants
who submitted their surveys by the deadiine will get the $50
payment we promised. What is our total budget for
compensation to participants?
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Email from administrator to project coordinator in response
to the project coordinator’s January 15, 11:12 a.m. message

January 15, 1:54 p.m.

The budget we allocated for compensation to those who
complete and submit the Medical Practice Priorities Survey is
$45,000. We will honor our commitment to pay $50 to each
participant—in the second group as well as the first—who
completes the survey and submits it by the deadline we specify
when we invite them to participate. However, we will need to
try not to exceed the total amount that is budgeted for this

purpose.
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1 = 10 students

30yearsofage  no high school
or older diploma

Refer to the pictograph of a survey of students at Central Community College. Each symbol represents 10 students in a sample of 300.

Use the drop-down menus to complete each statement according to the information presented in the diagram.

If one student is selected at random from the 300 surveyed, the chance that the student will be under 30 or a high school graduate or
both s [select.. <)

If one student is selected at random from the 300 surveyed, the chance that the student will be both under 30 and a high school
graduate is [ Select.. ).
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The Quasi JX is a new car model. Under ideal driving conditions, the Quasi JX's fuel economy is £ kilometers per liter ( £ K11 ) when
its driving speed is constant at S kilometers per hour ( skT'" )

In terms of the variables S and £, select the expression that represents the number of liters of fuel used in 1 hour of driving under
ideal driving conditions at a constant speed S, and select the expression that represents the number of liters of fuel used in a 60 km
drive under ideal driving conditions at a constant speed S . Make only two selections, one in each column.

Liters of fuel in 1 h |[Liters of fuel in 60 km

gm B W mMB wm min
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The table displays data on Brazilian agricultural products in 2009.

Sort  [sde. & For each of the following statements, select Yes if the statement can
By: - be shown to be true based on the information in the table.
Otherwise select No .
Production, Exports,
world share | Production, | world share | Exports, Yes No
Commodity (%) world rank (%) world rank
Beef 16 2 2 1 No individual country produces more than one-fourth
Chickens 15 3 38 1 of the world’s sugar.
Coffee 40 1 32 1 .
Com s 4 Y 3 There are countries that export a greater percent of
Cotton 5 5 10 t their coffee crops than does Brazil.
Orange julce 56 1 82 1 Of the commodities in the table for which Brazil ranks
Pork 4 4 12 4 first in world exports, Brazil produces more than 20%
Soybeans 27 2 40 2 of the worlds supply.
Sugar 21 1 44 1 N
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Email from administrator to research staff
January 15, 10:46 a.m.

Yesterday was the deadline for our receipt of completed
surveys from doctors who were invited to participate in the
Medical Practice Priorities Survey. Did we get enough returns
from this original group of invitees to get reliable statistics? Do
we need to invite additional participants?

Consider each of the following statements. Does the
information in the three emails support the inference as stated?

Yes No

) The administrator is unwilling to invite as many
participants in the second group as were invited in
the first group.

The project coordinator does not expect to be able
to meet the goal for numbers of completed surveys
received.

The administrator is willing to accept some risk of
exceeding the budget for compensating participants.






